
Chemistry internal exam 2021

Paper code-CEMGT Semester -lll

Full Marks-10. Time- 30minutes

Answer all questions:. 2×5=10

1. Derive the relation between Cp and Cv.

2. The pH of a sample of vinegar is 3.76. Calculate
the concentration of hydrogen ions in it.

3. Write short note on Friedel Craft's acylation
reaction.

4. Complete the following reactions-

R-X + Mg ether ? + H2C=O. ? H2O/H+. ?

5. o-nitrophenol is more acidic than phenol. Why?



Bengali Version
সবক� ���র উ�র িদ�ত হ�ব - ২×৫ = ১০

১. Cp এবং Cv এরম�ধ� স�ক� �িত�াপন ক�রা ?

২. এক� িভিনগার �যৗ�গর PH হল 3.76 । এই �যৗ�গর H+
আয়�নর ক����শন িনণ�য় ক�রা ।

৩. �কা �লখ-

"Friedel Craft's acylation reaction"

৪. িন�চর িবি�য়া� স�� ক�রা-

R-X + Mg ether ? + H2C=O. ? H2O/H+ ?

৫. Phenol এর �থ�ক O - nitrophenol �বিশআি�ক হয় �কন ?


